3apnada F. LLlaxMaTHasa oocka

3a4aHbl ABe KNEeTKU WaxMaTHOW AOCKU. ECcnn OHM nokpalleHbl B OAMH
LBeT, TO BbiBeanTe cnoBo YES, a ecnu B pa3Hbie useta — 10 NO.

BxoaHble AaHHble
BeBoasaTca 4 ymMcna - KoopAMHaTbl KNETOK. a1 = int(input()

)

)
b2 = int(input()

BbiXOAHbIE AaHHbIE

(
int(input
BbiBeauTe OTBET Ha 3aJauyy. b1 =inf(

()

()

input())

[Tpnmepbl 0)

BXOAHble AaHHble a3 if (@1 +a2) % 2==(b1+b2) % 2

1 . n "

1 XO,EI, KOHS print("YES")

2 else:

2 - n n
print("NO")

BbIXOAHbIE AAdHHbIE
YES

BXOAHbIE AAHHbIE
1

1
2
3

BbIXOAHblE AAHHbIE
NO




